A Comparison of Three Ice Cream Flavors

using ANOVA Analysis
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= Besides the attributes Tastes like it has quality ingredients and Is a unique flavor | couldn’t
find elsewhere, all other qualities are statistically different between all three products

= None of the three products are statistically significant on the attribute, Is Sweet, indicating
that there are no significant differences in sweetness between the three products

Significance
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Attributes

Product ONE should be added
== | t0 the company’s product line

poduct3__48 = As indicated in the chart to the right, product one performed the
best on every attribute based on mean value scores

» |tis the most appealing product across all attributes

product 2

= Product one is also a unique flavor that cannot be found
anywhere else

product 2
product 3 : = As indicated in the chart below, there is no difference
— between products two and three on the unique flavor
products | 4. attribute, but there is a statistical difference between
predtell 240 products one and two and products one and three,
meaning that product one is unique
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Recommend product 2 3.04
product $___4.34 = Since the company is wanting to add a flavor that is both

appealing and unique, then they should add product one
as it fulfills both of these needs
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